sunny day today.
Answer:

raining tomorrow.
Answer:

cold yesterday.
Answer:

hot summer.

Answer:

windy outside.
Answer:

cloudy sky.
Answer:

foggy morning.
Answer:

stormy weather.
Answer:

snowy landscape.
Answer:

beautiful sunset.

Answer:

A2



sunny day today.
Answer: It's

raining tomorrow.
Answer: It will be

cold yesterday.
Answer: It was

hot summer.

Answer: It's

windy outside.
Answer: It's

cloudy sky.
Answer: It's

foggy morning.
Answer: It's

stormy weather.
Answer: It's

snowy landscape.
Answer: It's

beautiful sunset.

Answer: It's

Answers



